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MHI-02 : MODERN WORLD

Maximum Marks : 100
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Note :

Answer any five questions in about 500 words each.

Attempt at least two questions from each section. All

questions carry equal marks.

SECTION-A

Why is a study of the Renaissance essential for
understanding of the modern world ?

Discuss the processes of secularization and
rationalization in the modern world.

Critically examine the liberal conception of the
state.

Write a note on commercial capitalism.
What is the meaning of underdevelopment ?

Substantiate you answer by taking the example
of any one country.
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SECTION-B

6.  Discuss the basic feature of colonialism in what 20
ways colonialism is different from imperialism ?

7. How did a nation state system develop among 20
the countries of Europe in the 19" century ?

8.  What is the legacy of the French revolution to 20
modern world ?

9.  In what ways has the environment been affected 20
by modern economic development ?

10. Write short notes on any two of the following in
about 250 words each : 10+10=20

(a) Welfare State
(b) Romantic critique of the enlighterment
(c) Total war

(d) Theories of Demographic Change
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